Efficiency vs Dxy(PV)

S‘0.0J:

ofredi g

—25201510 -5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_mkFit_baseline
—e— DQM_mkFit_baseline6iter
I Efficienc] —— DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3

< 0.5

—1—38—06—0402 0405?)
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
0.8,

S VO :
e F :
IS/ SRR PP PRERPE PERPEP N RPD ERRRRE
2 f :
> 0.6 p e sesees
(5} E .
3 . .F :
A R R R AR ERERER R AR Peeees
= N
15} .

0. b
he]
T
04

0'—30 -20 -10 0 10 20 30

TP dz(PV) (cm)

o 0
FREY TELEEEETEEIEES - EL EEEETERER
24
W] EECEEEERRLEREE | (111211 | et ekt
R £
T 05 0




	Contents
	Page 1


